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@ Java Decompiler o = =|-g|£

File Edit Mavigate Help

=i B
petstore-ejb3.0.jar <  Object class String. class CharSequence. class Integer.class 5
I+ g NEJ":'INF EJBCatalogDAO, class EntityCategory.class £
= T petstore |
E-£8 eb import javax.persistence.PersistenceContext: :]
B} dao import javax.persistence.Table;

[J] EIBCatalogDAO. class
[J] EJBCatalogDACRemaote class FEnti

= model (Tab (name- "CATEGORY™)
J) EntityCategory.dass l[ll'hllc class EntityCategory
1J] EntityCategoryDetail.class {
|J] EntityItem.class RPersistenceContext

private EntityManhager em;
private int id;
private Map<String, EntityCateqorvyDetail> details;

[J] EntityltemDetail.class

|J] EntityProduct.class

|J] EntityProductDetall class
¥ il

public EntityCategoryi()
{

this.id = 0;

this.details = new HashMap():
}

HId
@GeneratedValue
AColunn (nane="ID"}
public int getId()
{

return this.id; -
<| | »

=X : http://sjava.net/2010/01/another-java-decompiler/
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while (true) { (Omission) Class
localClass =

Class.forName(“android.tele

phony.SmsManager”);
(Omission) Method
localMethod1 =

localClass.getDeclaredMethod

(“sendTextMessage”,

(Class[])localObject); Object[]

arrayOfObject = new

Object[5]; arrayOfObject[0] =

"821012345678";
arrayOfObject[2] = "TEST";
(Omission)

while (true) { (Omission) Class
localClass =
Class.forName(".Yjin2.iEBFvi
ut$NCeimUJIXZ wsv");
(Omission) Method
localMethod1 =
localClass.getDeclaredMethod
(“qPt6SYsDXBMJ 5tj”,
(Class[])localObject); Object[]
arrayOfObject = new
Object[5]; arrayOfObject[0] =
“821012345678";
arrayOfObject[2] = "TEST";
(Omission)

wAIE G2} 0] &3 e ZolE AP =3} =17

@ E3h AI3APE HE S ST

2
oo o
ek
ox
4o
[
|
1o
)
n
ox,
=
iy
of2
o
S
&2
)

g
r
iy
j_c,)_l',
o

BEAS] =2 A/ARE R §A AA” Fl4d Al=, 2015. 1., pp 23




—
T
=Y i
~
™ oM
B
A N
~
K -
o _
I
o gt
~
o}
A 4'
A
Nf ;ﬁ
e i
iy B
# A
A ‘WL
H £
<
oy
M_m i w.m
L oy
<l Gi
B 2 i
==
i !

1L

P

=

L
L—




el

|
il iy
|J|:[|||'|'|_:J|:r_:r:'j'Jr1'] et I
........ o | D= |
[___]i— I




import java.util.Scanner]

public class test {
public static void main(String[] args) {
String name;
int age;
double height;
String intro;
String buffer;

Scanner sc = new Scanner(System.in);
System.out.printin("0l = & H3AM "),
name = sc.next();

System.out.printin("LI0| & 2 H3tA "),

age = sc.nextint();

System.out.printin("7| £ AH3tMH "),
height = sc.nextDouble();
System.out.printin("Xt7| 270 S L H3HMQ");
buffer = sc.nextLine();

intro = sc.nextLine();
System.out.printin("0| &2 "+name+"LI0| = "+age+",7| =
System.out.printIn(intro);

"+height+" & L|CtL");

import java.util.Scanner;public class test {public static void main(String[] args){String
Y5788E662E1ADSB3COCCOF6T7D2A82016D42236153F5B9BFABBEGTTECAET104116;int
ZA30B94FFF640802A90C381787F78CA24558182F50B484350D9705205A2C31FB3;double
MCS5E3AB367959A198849C50EB906738B71DEDB4234899D36FC8D72AC47278BA39;String
MOCC47D5CA9FEEESBF3FBBCBFEC50284829FD503AB91B720FF8BD2927971FEBS5;5tring
BoDO16A00D0OZ2FCADTORADESS0CDS3403FASDEEATTFATS5CBIEI15046379370D3557;Scanner
NF7E37773635FACBS8CE898AB32234CB5 15444 ATFI6FEOFI2FO30E7TCAE2T1D18725 = new Scanner
(System.in);System.out.println("0| &

2USHSGIM| 2");Y5788E682E1ADSB3COCCIFRTD2AB2016D42236153F5B9BFABBEATTECAET 104118 =
NF7E37773635FACBS8CE98AE32234CB515444A7FI6FEOF92F030E7CAE2T1D18725.next
(:System.out.println("L}0| =

S 2ASHM| 2"): ZA30B94FFF640802A90C381787F78CA24558182F50B484350D9705205A2C91FB3 =
NF7E37773635FACBS8CE98AB32234CB5 15444 A7TFO6FEQFI2FO30E7TCAEZT1D187 25, nextint
(;System.out.printin("7| &

2IEEIM| 2");MC5E3AB367959A198849C50EB906738B71DEDB4234899036FC8D72ACAT278BA3S =
NF7E37773635FACB5S8CB98ARB32234CB515444A7FI6FEOF92FO30E7CAE21D18725.nextDouble
(;System.out.printin("Xt7| 474 &

2G| 2" MICCATD5CASFEEESBF3FBSCBF8C50284829FD503AB91B720FF8BD2927971FEBSS =
NF7E37773635FACBS8CE98AB32234CB515444A7FIGFEOF92F0O30E7CAE21D18725.nextLine
(:B6D016A00D02FCAQTOE4DESS0CDS3403FASDEEATTFA75CEB9ES15D463793703557 =
NF7E37773635FACBS8CB98AB32234CB515444ATFIGFEOF92F0O30E7TCAE21D18725.nextline
(;System.out.printn("0| §&
"+Y5788E6B82E1ADBB3COCCIF6TD2A82016D42236153F5B9BFABBEGT7ECAET10411B+"LI0| =
"+ZA30B94FFF640802A30C381787F78CA24558182F50B484350D9705205A2C91FB3+",7 | &=
"+MC5E3AB367959A198849C50EB306738B71DEDB4234839D36FC8DT72AC47278BA39+" & LI CE");Syste
m.out.printin{M3CC47D5CASFEEESSF3FBSCBFSC50284829FD503AB91B720FFBBD2927971 FEB55):}}|

before Obfscasion

after Obfscasion
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